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&series:example 2.

f(x) =eX-s(3x), X+(π,π)

f(x) =10 +8 (Anis (x) + Basin())
= A +E(Anosthx) + B(x)

where
A =1fixdx
Ak: ECf(x)osCx
By: AT fixsinfxiox ->

·
What ran we expect?

No. A., As, As. Ax. As...
...........
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*example...

sin3(x), x%-,n]

x

More than one way
to do this, even without integrals"

our goal:
sin3(x = 0 Basiniex)

Well...

Sin3(x) =Sin(x). SinF(x)

fa-sinix):FSX (Derived

=fSin(x) - zsin(x)cs(2x)
7

I =>Sin(x) 00s(y) =E(sin(x+ y) + sin(x - y)
y = 2x (Deve

=(Sin(X) - SinBx) + Sin(x)



=Sinx - fsin(3x

Bi, , B, =0, By=-

Bg = 0 th> 3

And that's it
exact

using
just is

using
just Bs
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